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HIE A
B TE 1 2 3 4 5 6 7 8 9 10
COD (kg/day) 0.45 0.55 0.66 0.80 0.99 1.31 1.57 1.71 1.88 2.00
%% (kg/day) 2.68 2.90 2.68 2.69 2.80 2.99 3.02 2.92 2.11 0.48
2 (kg/day) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
e A
I B 11 12 13 14 15 16 17 18 19 20
COD (kg/day) 2.61 2.60 2.94 3.20 3.40 3.01 0.47 0.52 0.60 0.90
%% (kg/day) 0.41 0.35 0.37 0.36 0.35 0.38 0.33 0.36 0.33 0.37
2 (kg/day) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
e A
I B 21 22 23 24 25 26 27 28 29 30
COD (kg/day) 1.10 1.18 1.22 1.26 1.33 1.37 1.66 1.68 1.73 1.97
£2F (kg/day) 1.20 0.89 0.34 0.32 0.34 0.42 0.43 0.39 0.40 0.51
2 (kg/day) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
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HefE i34 B B AREEE O H 4720 0 B ALE (kg/ day)
PEHKIZB T DR R G ART RO R A
(FrERi R R ) X (FEAKLBERAERR /TRE ) = (RFATG IR AT i)

COD : 20mg/0 X 1,514m3/day =
AZEFE . 10mg/0 X 1,514m3/day
A Img/0 X 1,514m3/day

30. 28kg/day
15. 14kg/day

= 1.514kg/day




